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Question Number : 1 Question Id : 3354728331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which field was the MNobel Prize awarded to Har Gobind Khorana in 19687 [ 1968 H g€ Mg GUHT @1 e &3
o Htelet Qe | HEATIT T 1 o7

Options :

1. ® Physics | Wifd® Bem

2. ¢ Physiology or Medicine | frRriwT a1 afefem
3. ® Chemistry | @@ fae9

4. ¥ Pharmacology | BTHIG AN

Question Number : 2 Question Id : 3354728332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Name the sanctuary in Orissa that has a water spread of approximately 900 sq. km and which is famous for
many species of migratory birds. | SNTE9T H 39 SRR &7 A a1 F|H @R 900 =01 fofdT &7 S ¢ ofiT AT
e T a1 WA o T HTeg 2

Options :

1. ® Ghana | 9T

2. ¥ Chilika | Rwer

3. ¥ Balukhand | 9e@s
4. ¥ Baisipalli | s¥OwaT

Question Number : 3 Question Id : 3354728333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ is the oldest science museurn in India, which was established under the aegis of CSIR. |

URT & Hadl T e GUgTad o, e TS ST o dealerel= § CTiid feaT =T am
Options :
1. ¥ Visvesvaraya Industrial and Technological Museurn, Bangalore | Tereraiar siteiiite ga Hieitiih i qugiedy,

2. ¥ National Museumn of Natural History, New Delhi | TTE WT@id e SAgTd GUETAY, 78 Tore!
3. ¥ Birla Industrial and Technological Museurn, Kolkata | TISaT st ga Weniie i Gugldad, ®iaeal
4. % National Museurn of India, New Delhi | T8 [dTica® GUgTad, 78 et

Question Number : 4 Question Id : 3354728334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What trade would you associate the town of Palanpur in Gujarat with? | T-R0d ﬁ‘tnﬂ'—rg“(af STET T 3710 TR 2™ &
Helg, T

Options :

1. ¥ Carpet weaving | ®Td g1

2. ® Cerarnic ware | DT g adq

3. ¥ Diamond trading and polishing | g7 s ST qTiefm

4 % Aluminum ware | TegRI-ad 0T (gd+)

Question Number : 5 Question Id : 3354728335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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“World Population Day’ is celebrated on _____________ of every year. | ‘Terar Smeean fgae, uad® oy
1 AT SATaT 2]

Options :
1. ¢ 11th July | 11 S8

2. ® 20th July | 20 @15
3. ® 25th July | 25 @S
4. ® Sth July { 5 9@

Question Number : 6 Question Id : 3354728336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The Constituent Assembly (elected for an undivided India) met for the first time on

ferTRAT R o oy et ugelt e
Options :

1. % 14 August 1947 | 14 g 1947
2. ¢ 6 Decernber 1946 | 6 fgamsr 1946
3. ¥ 3 June 1947 | 397 1947

4. % 15 November 1939 [ 15 HdeR 1939

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 7 Question Id : 3354728337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0
Which Indian boxer recently had a dual victorg in the WBO Asia Pacific Suger Middleweight and WEO Oriental

Super Middleweight titles? | Trd AR Qe o 5T 51 § e atall gidm TiEeeT ot Zergatar snites
g THiEmde aame o gigel Siiq griee @i o7 & b
Options :

1. ¥ Mary Kom | BT &1H

2. ¥ Shiva Thapa | =T g

3. ¥ Gaurav Bhandari | TRa ST
4. ¥ Vijender Singh | St &g

Question Number : 8 Question Id : 3354728338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following international football events was held in India in 20177 { 2017 # ¥ra # FafaeT
AT Goalal A1 H & B AT AT T2 12T 7

Options :

1. ® asian Football Confederation Cup | UiSHITE $eaTe ®I-beta &
2. ® CONCACAF Gold Cup | dreiigadiudios mies @0

3. ¥ FIFA World Cup | HIeT e @

4. ¥ FIF4 Under 17 World Cup | BT aie¥ 17 s &y

Question Number : 9 Question Id : 3354728339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Narne the first Indian Institute of Technology which was formally inaugurated in the year 1951: | TEel 9 1
I TeRT & T ATH a1y Mg 1951 # sfivamie &0 8 e gl

Options :

1. % IIT Kanpur | TS HFTYT
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2. % [IT Madras | JTEsMger AgT
3. ¥ [IT Delhi | sEamear et
4. ¥ 1IT Kharagpur | STesiscl ST

Question Number : 10 Question Id : 3354728340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Yarlung Zangbo river, in India, is known as: | 97T , TG o6 Fol, FeaTd ! o

Options :

1. ® Ganga | T

2. ¥ Brahmaputra | ¥gqd
3. ¥ Yamuna | IgAT

4. ® Saraswati | GCEad!

Question Number : 11 Question Id : 3354728341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

According to the Census 2011, which district has the lowest literacy rate in Madhva Pradesh? | a9 2011 &
FAATIUAT o SIER, e W o fore el H STaRaT i ot Head & 57

Options :
1. ¥ Jhabhua | Feam

2. ¥ Alirajpur | ST
3. ¥ Barwani | 95

4. ¥ sheopur | &Y

Question Number : 12 Question Id : 3354728342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indian Railways has §,_1VEI] a contract to Bansal Group to manage which railway station in Madhya Pradesh? |

WA 19 el = Hed W o T {ofel €S9 o Warei dee] o Toll aielel 0 o a1y Uar Siere fomar 37
Options :

1. ® Nepanagar | AU

® Satna | a1

¥ Habibganj | gaiam

® Ratlam | W@AH

r

L

s

Question Number : 13 Question Id : 3354728343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The idol of Lord I—Ianuman 1n Girwar village of Shajapur belongs to the _____ century. | SR & TReR Mg
WA A ST gid _____

Options :
1. ¥ Sth | 5df

® gth [ gdf
® 12th 124t
4 % 16th [ 16dF

r

w

Question Number : 14 Question Id : 3354728344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0
What is the name of the sari that is most famous in Khargone district? | @ et # Ted Witkg @ral & 710 F497 37

Options :

1. ® Chanderi | @it

. ¥ Maheshwari | AgaRT
¥ Banarasi | aqaRET

® Ilkal | o@d

W

v

Question Number : 15 Question Id : 3354728345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Narme the capital of Madhya Bharat from 1948 to 1956 during surmumers: | TeHsTH & 3R 1948 § 1956 9@
T T T TFAETAT &7 AT FaTT

Options :

1. ¥ Bhopal | \MTA
2. % Jabalpur | SeeqC
3. ¥ Gwalior | TaTieieR

4. ¢ Indore | E2IT

Question Number : 16 Question Id : 3354728346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Jatashankar temple in Damoh is dedicated to ______ .| SHE § FAeTsie AfeT ______ FI TG 2]

Options :

1. ¥ Mahadev Ji | Agea =it

2. ® Hanuman Ji | gga St

® vishnu Ji | fdwy it

# Ramchandra Ji | TR St

w

>

Question Number : 17 Question Id : 3354728347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Indore Municipal Corporation (MC) was established in the vear_____ ¥ S T # T2 A R (AT
T T @1 TS 2

Options :

1. % 1962
2 % 1958
3. ¢ 1956
4 % 19861

Question Number : 18 Question Id : 3354728348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

When was the Madhya Pradesh State Forest Development Board established? | Aeamesr T4 9 [S@md 912 @
T T T ar?

Options :

1. ¥ 24 July 1975 | 24 JaT8 1975
2. % 5 July 1981 | 591 1981

3. ¥ 20 July 1979 | 20 9@E 1979
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4. ® 10 August 1955 | 10 anmeq 1955

Question Number : 19 Question Id : 3354728349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the 24th Governor of Reserve Bank of India? | WRa 19 Tt d&F & 24 o TTa=¢ &1 27
Options :

1. ¥ Urjit Patel | 3T wed

2. % D Subbarao | ST Geawrd

3. ® Raghuram Rajan | T T

4. % Bimal Jalan | e S

Question Number : 20 Question Id : 3354728350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which city was known as ‘Avantika’ in ancient times? | W= @A H S @7 J5¢ 'S THET oF 10 & AT 7197 917
Options :

1. ¥ Ujjain | 3=

#® Gwalior | TaTferaw

. %® Thansi | =TT

#® Bhopal [ 9@

ra

AW

General Maths and General Aptitude

Section Id : 335472279

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472279
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
If the radius of a circle is increased so that its circurnference increases by 5%, then the area increases by what

percentage? | UF I & 34T 50 UHW agd1 & 107 IO T H 5% &1 Jhkg 51d1 51 T390 836 H oha WiaaaaT & dig 5141 57
Options :

1. ® 5%

® 10%

¥ 10.25%

™

s L
#

¥

)

=
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Question Number : 22 Question Id : 3354728352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A store marks the price of shirts by 60%. They sell a third at this price and a third at a discournt of 20% on the
marked price and the remaining third at a discount Qf E0% on the marked price. What ercentage will e the
overall profit or 1oss? | U%F G&TH = FHE! H1 0rd 60% 3ifehd FFam Iegi+ g7 FrA! &1 T T 56 0 d 0% 97 &
Ter-TagTS W afferd Yrdl T 20% &1 go OT Tdwa T ud a9 it o7 o g alferd grd O 50% & g UT Fram el &
T ZTi+ & WidSraaT & g

Options :
332 % profit / 33~ % os

222 9% profit / 22 % s

3. ¥ 30% profit | 30% &M
4. % 20%loss | 20 % g1

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 23 Question Id : 3354728353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
4536

The fraction % in the lowest terms (simplest form or reduced form) is: / == preei LS L qaf
= 21 (FT §9 47 oEghd F9)
Options :
1
1 11
12
~ s 132
28
21
s 8 231
63
» 0693
*

Question Number : 24 Question Id : 3354728354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
415 =7

Options :

1. ¥ g/5

2 % 5/9
3.¥08
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4 ¥ 05

Question Number : 25 Question Id : 3354728355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
100x 00967 x 1000x 967 x 10x 967="

Options :

-

| % (9677

% 9672

M2

0673

L

967°x 10

Question Number : 26 Question Id : 3354728356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The value of (64)% is: /[ (64)% & & &

Options :

L
®
Q

e
§

Question Number : 27 Question Id : 3354728357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The ratio of the area of a square to that of the square drawn on its diagonal is: | U@ a1l & & BT SFUT JqF
Torepuf ox i g @i & arguTd g

Options :
1.8 2:1
.12
® 1.4
4 ® 1:1

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

M2

w

Question Number : 28 Question Id : 3354728358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
P(x) =x* —2x + 3 p(1) =?
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Options :
1. %1

M2

4 ¥ 4

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 29 Question Id : 3354728359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the square of (0.013)7 | (0.013) TT a7 F4T 57

Options :

1. ¥ 000169
2. % 0.0000169
¥ 0.000169
4. % 0.0169

(A

Question Number : 30 Question Id : 3354728360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0
Find the average. | & @ &4

44 57, 41, 28, 30
Options :
1. v 40
> ® 41
® 42

w

-

Question Number : 31 Question Id : 3354728361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A man completes a certain journey in 6 hours. He covers half the distance at 60 km/fh and the remaining half
at 90 krnfh. What is the distance travelled? [ Uw et =Tee = SUAT AT 6 Tt H qUf BT 81 I 31TefT g BT 60
Tepsit wieT &M S ameft gET @t 90 fopt) wreT # quf forem @ T TE GO AT R

Options :

1. ¥ 360 km | 360 Tt
® 400 km j 400 Tt
#® 450 km | 450 Tt
¥ 432 ki | 432 Tepdt

M

w

i

Question Number : 32 Question Id : 3354728362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Igig cousin is twice my age. If the difference between our ages is 20 years, then what i my age? | T TR AT
ST T 7T aﬁsu%wg%ma 20 = T -7 5, T AT I 74T 37

Options :

2 ¥ 20
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1
8
M

NLY

¥
PP
N

Question Number : 33 Question Id : 3354728363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A can finish a jobin 16 days and E in 20 days. If both worlk together for 4 days and A suddenly leaves, then
how many more days does E need to complete the job? | 4 U@ & @i 16 AT § F9TE 20 T4 # qof # o 81 a1
ATy e 4 feat & oy @ avd 8, o ermeer A 712 397 81 99 & &1 qul @ & 160 B 1 o e srféiar T et e

Options :
1. % 12days [ 12 A

¥ 9days | 9 fem
¥ 1ldays | 117

r

L

e

Question Number : 34 Question Id : 3354728364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
48 men can dig a trench in 20 days. How many men can dig it in 15 days? | 48 78 U= @18 &1 20 oA # @iy g@d
3 15 ﬁﬁﬁgﬁ%ﬂﬁg@@amﬁ?

Options :

1. ¥ 55
® 60
® 50
4. v 54

M

w

Question Number : 35 Question Id : 3354728365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average age of a husband and his wife at the time of their marriage was 25 years. After 7 vears, the
average age of the husband, wife and his son is 22 years. What is the age of the son at that time? | ﬁzrr%)ﬁ?m
ek Uid 31T Ul ekl e ey 24 o ot 7 aui o wesarrd uid, Uit o O o elfEa g 22 o9 31 59 U UF i 4T 7Y 5

Options :
1. ¥ 5
2 % 4

3 =5

4. v 2

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 36 Question Id : 3354728366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The proportion of zinc and copper in a brass piece is 4:5, respectively. How rmuch zing will be there in 180 kg
of such a piece? | Wda &1 G Fia | TEdT U TTaT BT UG PAT 4.5 21 THT WHR T 120 TR0T 1 U Fio H STEar sl q=7
E&:l :

Options :

1. % 40kg | 40 T
2. ¥ 80 kg | 80 Famm
3. % 10kg | 10 fwmm
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4. ® 120kg | 120 fFm

Question Number : 37 Question Id : 3354728367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The smallest nurmber which must be subtracted from 5934 to make it a perfect square is: | I5 Ha& FleT &g
ST o, T 8934 & T ST 2113, d1ier T o quf &t &l Sy

Options :
1. % 94
® 95
¥ 98
% 100

M

L

NS

Question Number : 38 Question Id : 3354728368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If /5 and 9/15 are equivalent, then value of xis___. | aig x5 oW 9/ 15 AATFI & Tl x FTHH _____ 2l
Options :

LB
2 ® 37

L

L

L9 I LW

Question Number : 39 Question Id : 3354728369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is CORRECT. if x2=42247 | I x3=4224 ¢, df =@ a § &

&l TEr 87
Options :
64=x<65
1. v
« 210<x<215
z. ™
L 24<x<25
21<x<22
4 ®

Question Number : 40 Question Id : 3354728370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The greatest 4-digit number which is a perfect square is___. | Hgad 4-&@ T &&T, S fo U qof a1 g,
Options :

1. ¥ 9999
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2. ¥ 9909

3. ¥ 9801

4 % 4081

General Hindi

Section Id : 335472280
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472280
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FEOTS W AR W e o _________ 9 8

Options :
2 %3

w

N

Question Number : 42 Question Id : 3354728372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
qoHN 96T 51 -
Options :

r

0

Ny

Question Number : 43 Question Id : 3354728373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
et seg 751 8-
Options :

1. % @ B

2 % g o

= el P
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4 % Fe

Question Number : 44 Question Id : 3354728374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T o Tereg T T el e T B -

Options :
1. ® SmEre
4' "'3 Er}';:a'

Question Number : 45 Question Id : 3354728375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FA-53 e I B-
Options :

1. ¢ qed deg

r

B

Question Number : 46 Question Id : 3354728376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

R w1 AigaE e H A e arg?
Options :

1. ® gty

2. % gy

Ll

Question Number : 47 Question Id : 3354728377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT G | g & o [o1d U e 9 H € i AT 87
Options :

1. % godt

- i

% goem

M

L

e

Question Number : 48 Question Id : 3354728378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘T FT AT g Mg A g w e | gy
Options :

1. ® g+amT
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2. ¥ gata
4. ¢ T+ad

Question Number : 49 Question Id : 3354728379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A T O g, 97 H & BT ATE?
Options :

2. ¢ fame

¥}

Question Number : 50 Question Id : 3354728380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T IUET G AT T g H F B 57
Options :

® TRy

w

Question Number : 51 Question Id : 3354728381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ERUEHHA e A 99 H & 19 |7 GAT 57
Options :

B

Question Number : 52 Question Id : 3354728382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T FlemT gera] &7 ol g awm A e
Options :

[

w

Question Number : 53 Question Id : 3354728383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

YT W g T FH A BT ATE?
Options :

1 ¥ Fua
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4 ¥ T

Question Number : 54 Question Id : 3354728384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

I A HIE T o FT PO BT AT
AT Fall o S 9 T oI G |
UG A T A g @ arTd a7

Options :
1. Vg™

r

w

® Oroaeg T
4. ® qgqET

Question Number : 55 Question Id : 3354728385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A1 o Gt ot & 19 o @t )
H I AT AP 51 Gal Tobed! gi?

Options :
1. % ﬁﬂxﬂ’ EEAL

Question Number : 56 Question Id : 3354728386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T T Sreg ! o WO @Rl FA€ aTei Uik @1 W0 - HOUST, O, g7, AT

Options :
1. ® i forea, Fy, aha

w

NN

Question Number : 57 Question Id : 3354728387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ter T gETaY @ Agt ard i - i At T
Options :

% e it e g

4. ¥ g & Wy 4o g AT

L

Question Number : 58 Question Id : 3354728388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0
?aﬁﬁw%@‘aﬁs@%g&gﬁfﬁ
P T & 51, W AR A A
T R H S T g

Question Number : 59 Question Id : 3354728389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Tafme ! geg fgioiET # & forg Tower &7 segmee’ 2 -
Options :

2. ¢ i

3. ¥ oiffdw - aex

Question Number : 60 Question Id : 3354728390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T e H | o T @ JaEe 57

Options :
1. ¢ sreiaTe |

w

e

Rural Economy and Panchayati Raj

Section Id : 335472281

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472281
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354728391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

‘if*m-:;?g_érnong the f%gomng has the power to name a local road in a village? |79 # & TFe U@ T & &1 92@ #7
TH TG &

Options :

1. ¥ PWD Department | Tigerga! fadmT
2. ¥ District Panchavyat | F&T vemaa
3. ¥ Janpad Panchayat | S90S t=mad
4. ¥ Gram Panchayat | TTH 0=

Question Number : 62 Question Id : 3354728392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which among the following districts of MP is the highest producer of potato? | We ugy & forg Fe § Faiteres e
FT IcUTEA 51T 57

Options :

1. ¢ Chindwara | fiea=T
2 # Anupur | S

® Guna IRIGH

4. ® Datia | Tid=T

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

w

Question Number : 63 Question Id : 3354728393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Beneficiaries of Mukhya Mantri Ehavantar Bhugtan Yojana are: | GEadaT ATaia€ QAT AT & AT =9 &

Options :
1. ¥ Industrialists | J=nmid

® Teachers | Tdyw
. ¥ Farmers | g
. % Students | 19

W

o

Question Number : 64 Question Id : 3354728394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which city is Reserve Bank of India - College of Agricultural Banking located? | fore age # fesfel dfop offe gizar -
et ST U eelte o T Te9rd 57

Options :

1. ® Delhi | fewsl

# Kolkata | ®ie@@ar
. ¥ Pune | g0t

® Bangalore | AR

M

(W4

e

Question Number : 65 Question Id : 3354728395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In which vear was the pilot phase of Pradhan Mantri Adarsh Gram Yojana launched? | WerwaT sl T ==
T WA =0T o ay S T e

Options :

1. % 2000

~ W A~~~
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3. ¢ 2010
4 ¥ 2015

Question Number : 66 Question Id : 3354728396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

On which website can farmers get information on agricultural produce prices? | T forg demmge & T Ioure! &
T dl § HaTerd ST UTH & 9ed 57

Options :

1. ¥ FEDMARKNET

.V AGMARKNET

® COMMODITIESNET
® A4GPRODNET

M2

e

Question Number : 67 Question Id : 3354728397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The erstwhile Kutir Jyoti scheme was associated with: | 05 o<t iid T g & Harera 4T

Options :

1. ® Promoting cottage industry in villages | Tal # PeiT I ®T GG @7 ST

2. % Promoting employment among rural unemployed youth | TTHIT SRR Famelf @& o7 TR ®1 g &A1

3. ¥ Providing electricity to rural families living below the poverty line | TIET &1 & =il Siiae T T aTe TTHT
4. ¥ Providing housing to poor families | e TERT & 0 ST HeT= FAT

Question Number : 68 Question Id : 3354728398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Agriculture, including allied sectors, accounted for ________ ercentage of the GDP in 2014-15 (at constant

price 2011-12). | Hekg 431 Glgd FW, 2014-15 # A= (B 2011-12 W) & ________ WIS AT 21

Options :

1. ¥ 240
2. ¥ 17.4
3. % 117
4 % 103

Question Number : 69 Question Id : 3354728399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A policy of support prices for food-grains came to be adopted throughout India in_____. | |y & oy aweda
Tl @1 U AiTd g9 9nd o T AUATS T2

Options :

1. ¥ 1944
® 1956
¥ 1964

® 1972

SV

s

Question Number : 70 Question Id : 3354728400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cavvoacnt + 1T Werana « )
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A3 per the Constitutional Provision, how will the chairperson of the Zilla Parishad be elected? | Haeni-ia Wierem
& AT AT U9, o Sreag &7 -1 & g ImT?

Options :

1. ® Directly | Weay

2. ¥ Indirectly | ameay

3. ¥ As decided by the State Legislature | T4 [de= ASd grT THeriiea
4. ¥ Through Co-operation | TgaNT & ATEAH &

Question Number : 71 Question Id : 3354728401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In which year did the Pradhan Mantri Gram Sadak scheme start? | 7o o # =1 U0 G2 FieE1 TR g8 7

Options :

1. ¥ 1999
¥ 2000
® 2005
® 1991

R

w

e

Question Number : 72 Question Id : 3354728402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the objective of ‘Kamadhenu Yojana’ in Madhya Pradesh? | B Ugar § “HTHE J1SHT 01 FAT I59 57
Options :

1. ® Breeding of cows | T &T e+

2. ¥ Development of cowsheds | T @7 fdwmE
3. ® Increasing milk production | FEEIERICECET]
4 % Medical treatment of cows | T @7 Rt I

Question Number : 73 Question Id : 3354728403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which among following states does NOT cultivate wheat? | THaaTa & # & forg T § T &1 Gd T =51 1 AT 27

Options :

1. ¥ Madhya Pradesh | 7eg 0ear
2. % Maharashtra | AgRTE

3. ¢ Tamil Nadu | Tia-Tg

4. ® Karnataka | #ica

Question Number : 74 Question Id : 3354728404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Holding of elections to Panchayat is decided by: | U=Tad & g1 SO @1 1019 49 gRT Teram ST

Options :

1. ¥ Election Comrnission of India | WRT ®T g1 ST
2. % District Collector | Fwmeftar

. ¥ State Government | T4 TXEHT

L

4. ¥ Governor of the state | =4 T T=aUTA
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Question Number : 75 Question Id : 3354728405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the main objective of ‘BharatNet'? | “ORd =T &7 Fa7 §&J 539 &7

Options :

1. ® Providing fishing nets to fishermen of tribal areas | sicaTdr §=1 & TFIRT P AT Ghae & AT TG FCAT
2. ¥ Selling plastic nets by this brand name | 59 #1S 7T & TATCEE &l ATA a1

3. % Networking of highways of the country | 247 & TR @7 SeditT

4. ¥ Provide broadband connectivity to Gram Panchayats | TTH TEHd! @1 fiS6s d-a Ug Fe]

Question Number : 76 Question Id : 3354728406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Sansad Adarsh Gram Yojana was launched by the Prime Minister in 2014 on the birth anniversary of

__________ ? | 2014 ® WA @R _________ % S-HICH UT 66g TGS W AT g & 1T 2

Options :

1. ® Deen Dayal Upadaya | SHadTa SUTEATT

2. % Shyama Prasad Mukherjee | STHT WETg g@1
v Jayaprakash Narayan | SaWeTsT FTH0T

¥ Sardar Vallabai Patel | 98ER an‘ﬂ"’FI'Ig' LT

w

e

Question Number : 77 Question Id : 3354728407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Mahatma Gandhi State Institute of Rural Development & Panchayati Raj is located _____ | T WETeAT el & T
EECIIT 3T T SarUHe U8 UaTad T T ( HETeHT TITeT T Jrwior feerms See U e T T _______ it e
Options :

1. ®¥ Bhopal | HTT

2. ¥ Jabalpur | F&@qT
3. % Sagar | AT
4. ¥ sidhi ; gt

Question Number : 78 Question Id : 3354728408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the percenta e of seats reserved for OECs in Panchayats in Madhya Pradesh? | 7ed nea # t=h=ai § a1
Tirgs &t & fog Toraer

Options :

1. % 10%

2. ® 20%
3. ¢ 25%
4 % 33%

Question Number : 79 Question Id : 3354728409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
In which of the following circumnstances is additional 10% of the wages given to workers under MGNREEGS 7 |

TafeTaT # & for oieiedia &, s & sl 10 nidaa sifd i wiestas g smr g7

Options :
1. ® If working hard | @31 TI3A 514 0T
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[

. ¥ When worksite is more than 5 kms away from residence | i Farg € 5 il g @ #edm g
# If the programme officer feels | Ife wied et Agqd FdT s
. % If the worker comes early for work | AT HTHITR &TH UL GAY ﬁq—“f TR

&

Question Number : 80 Question Id : 3354728410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What should be the minirmrm age for contesting in Panchayat election? | W=ad gH1d fa- & ol ~Iaad g fera-t

Options :

1. % 185

2 %18

B W EZl

4 % 32

Computer Knowledge

Section Id : 335472282
Section Number : 5
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472282
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

HTML is used to create a: | HTML &7 Iui fome @& fmir & o e s &
Options :
1. ¥ Web server | o Ha¢

® word document | g2 STggHE
. ¥ Web page | de U
#® Database | EREE

SV

e

Question Number : 82 Question Id : 3354728412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mechanism to protect private networks from outside attack is called_________. | MTgele "o &l aTgel gHel o
ST AT TaTTeTer FEATAT 8l
Options :

1. ¥ Antivirus | TEIGRRE
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2. ¢ Firewall | BTawdrd
3. % Search Engine | &=l &
4. ® Cyber crime | @5 #EA

Question Number : 83 Question Id : 3354728413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
How can you print three copies of a worksheet? | 30 UeF debed &I d - Widdl &1 & T & T@d o7

Options :

1. ¥ Click Print from the menu and Select the print pages from 1to 3 | B d@ e W e # it 1 a3 g e o
2. ¢ Click Print from the menu and type 3 in the Number of copies text box. [ # & fie 0¢ fewe @¢ she uiaat &t
TEIT I1 SFee S99 H 3 T Y

3. # Press Ctrl+P+3 | Ctrl+P+3 gam

4. % Al of the above | IWiFHd a4t

Question Number : 84 Question Id : 3354728414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following command is Not available in Print Preview menu in MS Word 20077 | TATE 32 2007 ¥,
iz g A & 7oA | & &1 o FHiS U Tl gld 1 57

Options :

1. ¥ Zoom | 9H

2. ® Preview | gy

3. ¥ Page Setup | U9 g7am
4. ¢ Paragraph | TRTUTE

Question Number : 85 Question Id : 3354728415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The pr%:essing of putting data in a storage location is called ______. | T GER dieha | ZTeT 7@ & uiwar

Options :
1. ¥ Reading | T2

2. ¥ Controlling | @@
3. ¥ Hand shaking | 3= S
4. ¥ Writing | T3l

Question Number : 86 Question Id : 3354728416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number of funiction keys in the standard keyboard is ______. | HEZE HIES o Gepad il i wg

Options :
1. % 10

2 83
3 ¥ 11
4 ¥ 12
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Question Number : 87 Question Id : 3354728417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MAC addressis _________ bits. | MACTS® _________ T gETE
Options :

1. 8 24

® 36

. ¥ 48

Ll ra

® 42

-

Question Number : 88 Question Id : 3354728418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
________ cookies are also known as transient cookies. | ________ Feh i Pl 0T ekl o A0 & 9 ST SAET 8]

Options :

1. ® Third-party | 92-U1el
2. ® First-party | BHe-UTel
3. ¥ Session | 994

4. % Persistent | UiGHdc

Question Number : 89 Question Id : 3354728419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The elermental language of COMMpUters COMmMprising a long sequerce of bina% digital zeros and ones (bits) is

called ______. | TG ! g AT, e sge ST S gt (feigw) & fHeT aniid glaT e, FEATAT 3l

Options :
1. ¥ Machine language | A #a=

% Algorithrmn | STEH
® Flow chart | Tal oTe
* High Level Language | §T el afia

L0 I

-

Question Number : 90 Question Id : 3354728420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the pictorial representation of work sheet data in MS Excel? | UHUE Ufhdd § dardie 27 &1 e T
FATE?
Options :
1. ¢ Chart | T
2. ¥ Clipart | Toemané
¥ WordArt | g2ae

3
4. % all of the above | IWiFHd a4t

Question Number : 91 Question Id : 3354728421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The extension for an MS Word 2007 file is: | THUH 92 BISA & (o] Thaca W 51aT &

Options :
1. ¥ ixt
2. ® rtf
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3. v docx

4 ¥ odt

Question Number : 92 Question Id : 3354728422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the full form of LAN? | LAN &7 faeqa &7 $a1 87

Options :
1. # Low-level Access Network | @l-idd Upad Hedd

2. ¥ Local Area Network | @il T Aeadh
3. ¥ Load Adjusting Network | #ig USeaT dead
4. % Lower Area Network | FTSR Qitar 4ead

Question Number : 93 Question Id : 3354728423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many bytes equal to a Gigabyte? | T a5e U@ TGS & eRTa 51d 57

Options :

20 bytes / 210 g2

1 ®
_,, 2%bytes / 220 95T

é. L
230 bytes [/ 230 FI3C

3 ¢
20 bytes / 20 913

4 %

Question Number : 94 Question Id : 3354728424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

In Excel, “Qtr 1, Gtr 2, and Qtr 3" is an example of: | TFaa # "Qtr 1, Qtr 2, Qtr 3" T90= &7 Ig0 &
Options :

1. ® Formula | ®THAT

2. ® Function | Boee

3. ¢ Series | T

4 % Syntax | Eeaq

Question Number : 95 Question Id : 3354728425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich one of the following shortcut keys is used to cut a portion from a document in MS Word 20077 [ TATT
72 it 2007 # T # @ F19 dF siéae gt STaate 3 & R 9T o e e o 1o T B A7

Options :

1. ¥ CTRL+C

a o ATDT v
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3. ¥ CTRL+N
4 ¥ CTRL+V

Question Number : 96 Question Id : 3354728426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

ASCILis a coding System that provides
T et ne ear ol

Options :

1.v 128
2. % 357
3. ¥ 1024
4. ¥ 2024

Question Number : 97 Question Id : 3354728427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
To save a word docurment (S Word 2007 in a SpECifiEd location, vou have to Click and select _______ option in

office button. | 92 STggle (TUUH g2 2007 H) &1 Moz Afha § 9 & & Tohg, st aiba sea & _______ T Tt
S Helgre AT 5

Options :

1. ¥ Save | 9T

¥ Save As | 9E U

& l:«]pen :II m
® New | T4

[

W

-

Question Number : 98 Question Id : 3354728428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which shortcut key is used to ‘align center’ the selected text in MS Word? | THUE 92 § deigiee dde W ‘align
center’ & SHIATA FC & o] Tored ﬂTgéarc” W T SEAHTA FAT 117

Options :

1. ® Ctrl+R
£ Ctrl+]
3. ¥ Ctrl+U
4. ¢ Ctrl+E

r

Question Number : 99 Question Id : 3354728429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When we delete anv file using delete key only, the file goes to the
AT AT

UL o [2e i #d &, a9 BIee
Options :

1. ¥ My Cormputer | HTg ®ET

2. ¥ Recycle bin | Toamed =4

#® Downloads | EEAAE

. ® Network Neighborhood | "eed Jaigs

| Tl B0 TRt IS A w1 e 12T gt

W

s

Question Number : 100 Question Id : 3354728430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Sinole T.ine Onection Ontian * Na Ontian Orientatian *+ Vertical
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Correct: 1 Wrong : 0

________ is a tool use to create and format spreadsheets. |
HEEICICECE

Options :

1. ¥ Adobe Photoshop C§ | USTd Bt €i0g

2. ® Microsoft Power Point | ATS& €T 4iat qaige

3. ¥ Microsoft Excel | WTg® AT THFde

4. % Internet Explorer | $e¢-¢ QFaqaAT

________ gz iT @1 Tl we o BTHe w1 & Ty ngedd



